

### PUBLIC INTEREST ADVOCACY CENTRE LE CENTRE POUR LA DÉFENSE DE L'INTÉRÊT PUBLIC

September 1, 2016

Ms. Kirsten Walli Board Secretary Ontario Energy Board Suite 2700 2300 Yonge Street Toronto, ON PIAC FILE # 6561

VIA E-Mail 14 pages

Dear Ms. Walli:

M4P 1E4

Re:

Board File No. EB-2015-0089 Milton Hydro Distribution Inc.

Cost Claim of Vulnerable Energy Consumers Coalition (VECC)

We have attached the cost claim of the Vulnerable Energy Consumers Coalition (VECC) associated with its participation in the above noted proceeding. Please note that time spent not within the specific categories was put in the other categories classification.

We have also directed a copy to the applicant as well as their counsel via email.

Yours truly,

2

Michael Janigan Counsel for VECC

cc:

Milton – Frank Lasowski – <u>franklasowski@miltonhydro.com</u> Milton – Cameron McKenzie – <u>cameronmckenzie@miltonhydro.com</u> Counsel – James Sidloksky – jsidlofsky@blg.com



### **Affidavit and Summary of Fees and Disbursements**

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

Instructions

				rmulas are embedded in th xchange rate and country o		
			Rate:		Country:	
Disbursemer However, on - The cost cla - A CV for ea	nts Being Claimed" nly one "Summary aim must be suppo och consultant/ana	) is required for ea of Fees and Disbur orted by a complete lyst must be attach	ch lawyer, ar sements" cov ed Affidavit s ned unless pr	" (comprising a "Statement nalyst/consultant and articl vering the whole of the parigned by a representative covided to the Board as presources."	ing student/paral ty's cost claim sho of the party. scribed on the Co	ould be provided. st Award Tariff.
File # EB-	EB-2015-0089			Process: Milton Hydro	Distribution Ir	nc.
Party:	VECC			Affiant's Name:	Donna Brady	
HST Numbe	er: 13059 24	05		HST	Rate Ontario:	3.94%
		Full Registrant Unregistered Other		Qualifyi	ng Non-Profit Tax Exempt	
				Affidavit		
I,		Donna Brady		, of the City/Town of		Ottawa
in the Prov	vince/State of	Or	ntario		, swear or affir	m that:
2. I have exa Being Claime 3. The attach Disbursemer Ontario Ener 4. This cost of	mined all of the do ed", "Statement(s) ned "Summary of F nts Being Claimed" rgy Board process claim does not incluse sections 6.05 and	ocumentation in su of Fees Being Clain ees and Disbursem include only costs referred to above. ude any costs for w	pport of this ned" and "Sta nents Being C incurred and york done, or s Practice Dire	) and as such have knowled cost claim, including the at atement(s) of Disbursemen claimed", "Statement(s) of F it time spent directly for the time spent, by a person the ection on Cost Awards.	ttached "Summar ts Being Claimed' Fees Being Claime purposes of the	y of Fees and Disbursements '. 'd" and "Statement(s) of Party's participation in the
Signature	of Affiant		/			
Sworn or a	affirmed before	e me at the City,	/Town of	Ott	awa	,
in the Prov	vince/State of		Ontario	, on	SSPS. (date)	1-2016.

Commissioner for taking Affidavits



## **Affidavit and Summary of Fees and Disbursements**

File # EB-	EB-2015-0089		Process:	Milton Hydro Distribution Inc.
Party:	VECC			
	Sumr	nary of Fe	es and Disburse	ements Being Claimed
Legal/con:	sultant/other fees	\$	34,847.50	
Disbursen	nents	\$	32.25	
HST		\$	1,372.99	
Total Cost	t Claim	\$	36,252.74	
			Payment Inform	nation
	Make cheque payable t	o: Public	: Interest Advo	cacv Centre
	mane eneque payable e			out) outlier
S	end payment to this addres	s: 1204-	ONE Nicholas	Street
		Ottaw	a, ON	
		K1N 7	'B7	

Michael Janigan
Janigan Professional Corporation
c/o Public Interest Advocacy Centre
1204-ONE Nicholas Street
Ottawa, ON
KIN 7B7

#### STATEMENT OF ACCOUNT

September 1, 2016

TO: VULNERABLE ENERGY CONSUMERS COALITION

c/o Public Interest Advocacy Centre Suite 1204 ONE Nicholas Street Ottawa, ON KIN 7B7

Re: EB – 2015-0173 Toronto Hydro Electric System Limited

Vulnerable Energy Consumers Coalition (VECC)

Cost Claim

For Services Rendered as Counsel in the above-noted matter.

RATE: \$330.00 per hour

To receipt, review, and attending on behalf of VECC in the above-noted proceeding.

January 2016 to August 2016

TO: Hours

64.5 Hours @ \$330.00 per hour

21,285.00

HST @ 13%

2,767.05

TOTAL AMOUNT DUE AND OWING:

\$ 24,052.05

Michael Janigan Janigan Professional Corporation - 831059738



File # EB-	EB-2015-0089		Process: N	1ilton Hydro Distribution Inc.	
Party:	VECC		Service Pro	vider Name: Michael Janigan	
	SERVICE PROVIDER TYPE	(check one )	Year Called to Bar	Completed Practising/Years Experie	of Relevant
	Legal Counsel Articling Student/Paralegal Consultant Analyst		1980	Hourly Rate:	\$330
	For Consultant/Analyst:	CV attac	:hed ided within previous	HST Rate Charged (enter %):	3.9%

St	atement o	of Fe	es Being	Cla	imed			
	Hours	Но	urly Rate		Subtotal		HST	Total
Pre-hearing Conference								
Preparation	= =	\$	330.00	\$	72	\$	-	\$ -
Attendance		\$	330.00	\$	0=	\$	-	\$ :#
Technical Conference								
Preparation		\$	330.00	\$	3(4)	\$	-	\$ 
Attendance		\$	330.00	\$	-	\$		\$ 0.5
Interrogatories								
Preparation		\$	330.00	\$	7/44	\$	225	\$ SEI
Responses		\$	330.00	\$		\$	-	\$ 3=
Issues Conference								
Preparation		\$	330.00	\$	-	\$	7.0	\$ 3/5
Attendance		\$	330.00	\$	-	\$	*	\$ -
ADR - Settlement Conference								
Preparation	4.0	\$	330.00	\$	1,320.00	\$	52.01	\$ 1,372.01
Attendance	13.3	\$	330.00	\$	4,389.00	\$	172.93	\$ 4,561.93
Proposal Preparation	2.9	\$	330.00	\$	957.00	\$	37.71	\$ 994.71
Argument								
Preparation	21.7	\$	330.00	\$	7,161.00	\$	282.14	\$ 7,443.14
Oral Hearing								
Preparation	12.5	\$	330.00	\$	4,125.00	\$	162.53	\$ 4,287.53
Attendance	7.5	\$	330.00	\$	2,475.00	\$	97.52	\$ 2,572.52
Other Conferences								
Preparation	2.6	\$	330.00	\$	858.00	\$	33.81	\$ 891.81
Attendance		\$	330.00	\$	-	\$	<b>©</b> 1	\$ 9 <b>=</b> -
Case Management		\$	170.00	\$		\$		\$ 
TOTAL SERVICE PROVIDER FEES				\$	21,285.00	\$	838.63	\$ 22,123.63

#### TraxTime report for Michael Janigan created 9/1/2016 12:41 PM

Saturday, January 23, 2016 - Total 1.6

in: 2:37p out: 4:12p 1.6

6561MiltonRates2015-0089

read evidence

Sunday, January 24, 2016 - Total 1.8

in: 6:29p out: 7:12p 0.7

6561MiltonRates2015-0089

review Harper notes

in: 10:14p out: 11:21p

1.1

6561MiltonRates2015-0089

review evidence and notes prep for ADR.

Monday, January 25, 2016 - Total 8.3

in: 6:15a out: 8:17a 2

6561MiltonRates2015-0089

review Garner notes prep for ADR

in: 9:30a out: 3:45p 6.3

6561MiltonRates2015-0089

attend at ADR

Tuesday, January 26, 2016 - Total 7.2

in: 7:17a out: 7:31a 0.2

6561MiltonRates2015-0089

review notes

in: 9:30a out: 4:30p7

6561MiltonRates2015-0089

attend ADR

Monday, February 08, 2016 - Total 0.5

in: 8:53p out: 9:23p 0.5

6561MiltonRates2015-0089

review agreement

Wednesday, February 17, 2016 - Total 0.5

in: 3:19p out: 3:50p 0.5

6561MiltonRates2015-0089

response to Shepherd email re Board Staff comment-re Sentinel

lighting

Thursday, February 18, 2016 - Total 0.6

in: 7:00a out: 7:17a 0.3

6561MiltonRates2015-0089

emails re Settlement agreement

in: 12:03p out: 12:20p

0.3

6561MiltonRates2015-0089

emeails re settlement agreement

Wednesday, March 09, 2016 - Total 0.3

in: 8:54a out: 9:14a 0.3

6561MiltonRates2015-0089

review file email to Garner

Friday, March 11, 2016 - Total 0.3

in: 7:12p out: 7:32p 0.3

6561MiltonRates2015-0089

receipt of corepondence from Milton and OEB correspondence with

Bill Harper

MJ Dockets.txt

Saturday, March 12, 2016 - Total 0.7

in: 4:49p out: 5:28p 0.7 6561MiltonRates2015-0089 correpondence with Board re LRAMVA issue

Wednesday, March 16, 2016 - Total 2

in: 1:22p out: 1:35p 0.2 6561MiltonRates2015-0089

review hearing plan and respond

in: 4:22p out: 6:10p 1.8 6561MiltonRates2015-0089

review Milton notes

Thursday, March 17, 2016 - Total 0.3

in: 6:03p out: 6:23p 0.3 6561MiltonRates2015-0089

adjourment request and response

Friday, April 01, 2016 - Total 0.9

in: 2:11p out: 3:02p 0.9 6561MiltonRates2015-0089 conversations with Mark Garner review file prep for hearing

Sunday, April 03, 2016 - Total 7.7

in: 10:11a out: 11:33a 1.4 6561MiltonRates2015-0089

review evidence updates

in: 1:44p out: 5:12p 3.5 6561MiltonRates2015-0089

prep for hearing

in: 7:53p out: 10:41p 2.8 6561MiltonRates2015-0089

prep for hearing

Monday, April 04, 2016 - Total 9.1

in: 6:15a out: 7:51a 1.6 6561MiltonRates2015-0089

prep for hearing

in: 9:30a out: 5:00p 7.5 6561MiltonRates2015-0089

attand at OEB

Thursday, April 07, 2016 - Total 0.5

in: 8:04a out: 8:31a 0.5 6561MiltonRates2015-0089

read Transcript vol 2

Thursday, April 14, 2016 - Total 1.9

in: 3:10p out: 3:32p 0.4 6561MiltonRates2015-0089

review file and transcripts

in: 4:17p out: 5:45p 1.5 6561MiltonRates2015-0089

review transcript and file

Friday, April 15, 2016 - Total 0.7

in: 9:53a out: 10:20a 0.5 6561MiltonRates2015-0089

draft argument

in: 1:00p out: 1:13p 0.2 6561MiltonRates2015-0089

draft argument

Saturday, April 16, 2016 - Total 2

MJ Dockets.txt

in: 1:45p out: 2:37p 0.9 in: 3:56p out: 4:59p 1.1

6561MiltonRates2015-0089 6561MiltonRates2015-0089

draft argument

Sunday, April 17, 2016 - Total 3.5

in: 8:45a out: 10:41a

1.9

6561MiltonRates2015-0089

draft argument

in: 11:41a out: 12:14p

0.6

6561MiltonRates2015-0089

drsft argument

in: 4:13p out: 5:15p 1

6561MiltonRates2015-0089

review file and draft argument

Monday, April 18, 2016 - Total 4.6

in: 8:30a out: 11:27a

3

6561MiltonRates2015-0089

draft argument

in: 2:15p out: 3:03p 0.8

6561MiltonRates2015-0089

draft argument review EP and SEC submissions

in: 6:15p out: 7:01p 0.8

6561MiltonRates2015-0089

draft argument

Tuesday, April 19, 2016 - Total 8.5

in: 8:30a out: 4:59p 8.5

6561MiltonRates2015-0089

draft argument

Tuesday, June 28, 2016 - Total 0.7

in: 7:47p out: 8:29p 0.7

6561MiltonRates2015-0089

review OEB Decision

Thursday, August 18, 2016 - Total 0.3

in: 7:11p out: 7:28p 0.3

6561MiltonRates2015-0089

review Board staff commenst on draft rate order

Totals From Friday, January 01, 2016 To Thursday, September 01, 2016

64.5

6561MiltonRates2015-0089

64.5

Total

#### **Donna Brady**

To: Subject: Donna Brady Milton cost claim

From: Michael Janigan [mailto:mjanigan@piac.ca]
Sent: Thursday, September 01, 2016 12:55 PM

To: Donna Brady

Subject: Milton cost claim

Dockets attached.

Please include 215 copies.

Thanks.

Michael Janigan Special Counsel Regulatory and Consumer Affairs Public Interest Advocacy Centre 31 Hillsdale Ave. E. Toronto, ON M4S1T4

Office Tele: 416-840-3907

www.piac.ca

215 × 0.15 = 32.25



File # EB-	EB-2015-0089	Process: Milton F	lydro Distribution Inc.
Party:	VECC	Service Provider Name	e: Michael Janigan

	Net	Cost	HST	Total	
Scanning/Photocopy	\$	32.25		\$	32.25
Printing				\$	Ε.
Courier				\$	¥
Telephone/Fax				\$	-
Transcripts				\$	-
Travel: Air				\$	-
Travel: Car				\$	
Travel: Rail				\$	2
Travel (Other):				\$	-
Parking				\$	-
Taxi				\$	5
Accommodation				\$	8
Meals				\$	ž
Other:				\$	-
Other:				\$	-
Other:				\$	-
TOTAL DISBURSEMENTS:	\$	32.25	-	\$	32.25

### **Econalysis Consulting Services**

34 King St East Suite 630 Toronto, Ontario M5C 2X8

## **Statement of Costs**

Date	File#
29/08/2016	2016055

Bill To	
Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7	

Terms	Docket No.
Net 30	

Project
---------

#### EB-2015-0089 Milton 2016 Rates

Serviced	Item	Description	Hours	Rate	Amount
24/11/2015	Interrogatories Preparation		3.25	330.00	1,072.50
25/11/2015	Interrogatories Preparation		1	330.00	330.00
26/11/2015	Interrogatories Preparation	Interrogatories/intervention/past decision review/notes	3.5	325.00	1,137.50
29/11/2015	Interrogatories Preparation	Interrogatories/notes (PO due 27th)	5.5	325.00	1,787.50
15/01/2016	ADR Preparation		1	330.00	330.00
18/01/2016	ADR Preparation	1	3	330.00	990.00
19/01/2016	ADR Preparation		3	330.00	990.00
22/01/2016	Interrogatories Responses	Review interrogatory responses/develop notes and follow-up questions	4	325.00	1,300.00
24/01/2016	ADR Preparation	Towns up quotions	1	330.00	330.00
24/01/2016	ADR Preparation	Develop notes for MJ for ADR	5.5	325.00	1,787.50
25/01/2016	ADR Preparation		0.5	330.00	165.00
25/01/2016	Interrogatories Responses	Attend ADR for purpose of supplemental interrogatories of VECC and other parties (acutal attendance 9:30-11:15 - 1 hr billing charge)	1	325.00	325.00
17/02/2016	ADR Proposal Preparation	LRAM Treatment	2	330.00	660.00
01/04/2016	ADR Proposal Preparation	10000000000000000000000000000000000000	0.25	330.00	82.50
02/04/2016	Oral Hearing Preparation	Develop Cross-examination notes	5	325.00	1,625.00
03/04/2016	Oral Hearing Preparation	Develop hearing notes /brief MJ	2	325.00	650.00

HST #10160 6028

### **Econalysis Consulting Services**

34 King St East Suite 630 Toronto, Ontario M5C 2X8

## **Statement of Costs**

Date	File #
29/08/2016	2016055

Bill To	
Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7	

Terms	Docket No.
Net 30	

		Project								
EB-2015-0089 Milton 2016 Rates										
Serviced	Item	Description	Hours	Rate	Amount					
		HST on Sales		13.00%	1,763.13					

HST #10160 6028 \$1,763.13

Total \$15,325.63



File # EB-	2015-0089		Process:	Milton 2016 Rates				
Party: VECC			Service Pr	ovider Name: Mark Garner				
	SERVICE PROVIDER TYPE  Legal Counsel  Articling Student/Paralegal	(check one )	Year Called to Bar	Completed \ Practising/Years o Experience 28	f Relevant			
	Consultant Analyst	<ul><li>✓</li></ul>		Hourly Rate:	\$325			
	For Consultant/Analyst:	CV attack	ned ded within previous	HST Rate Charged (enter %):	13.0%			

- 51	atement	of I	ees Being	g Cl	aimed				
	Hours		ourly Rate		Subtotal	$\top$	HST	T	Tabel
Pre-hearing Conference		Г				+	1131	+	Total
Preparation		\$	325.00	\$		\$		10	
Tachnin I C		\$	325.00	-	-	\$		\$	
Technical Conference				+		+~		1 2	-
Preparation		\$	325.00	\$		\$		-	
Attendance		\$	325.00	\$		\$		\$	
Interrogatories		1	020.00	+		1 3		\$	-
Preparation	9.0	\$	325.00	\$	2 025 00	-		-	
Responses	5.0	_	325.00	\$	2,925.00	-	380.25	\$	3,305.2
Issues Conference		1	323.00	13	1,625.00	\$	211.25	\$	1,836.25
Preparation		\$	325.00	-		+	100		
Attendance		\$	325.00	\$		\$	-	\$	
ADR - Settlement Conference		7	325.00	\$		\$		\$	
Preparation	5.5	\$	325.00	_		-			
Attendance	5.5	\$	325.00	\$	1,787.50	\$	232.38	\$	2,019.88
Proposal Preparation		\$		\$	-	\$		\$	241
Argument		<u>ې</u>	325.00	\$	-	\$		\$	•
Preparation		\$	225.00						
Oral Hearing	-	>	325.00	\$	-	\$	-	\$	-
Preparation	7.0	<u></u>	205.00						
Attendance	7.0	\$	325.00	\$	2,275.00	\$	295.75	\$	2,570.75
Other Conferences	-	\$	325.00	\$	-	\$	-	\$	-
Preparation		_							
Attendance		\$		\$		\$	-	\$	-
ase Management		\$		\$	-	\$	-	\$	-
	2013.3	\$	170.00	\$	-	\$	-	\$	
OTAL SERVICE PROVIDER FEES			V 45 15 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$	8,612.50	\$	1,119.63	\$	



File # EB-	2015-0089		Process: Milton 2016 Rates							
Party:	VECC		Service Pro	vider Name: Bill Harper	: Bill Harper					
	SERVICE PROVIDER TYPE	(check one )	Year Called to Bar	Completed Practising/Years Experie	of Relevant					
	Legal Counsel			36						
V	Articling Student/Paralegal Consultant Analyst			Hourly Rate:	\$330					
	For Consultant/Analyst:	CV attac	hed ided within previous	HST Rate Charged (enter %):	13.0%					

Statement of Fees Being Claimed												
	Hours Hourly Rate			Subtotal HS			HST		Total			
Pre-hearing Conference												
Preparation		\$	330.00	\$	-	\$	-	\$	-			
Attendance		\$	330.00	\$	-	\$	-	\$	-			
Technical Conference												
Preparation		\$	330.00	\$	-	\$	-	\$				
Attendance		\$	330.00	\$	-	\$	-	\$				
Interrogatories	_							Ž.,				
Preparation	4.25;	\$	330.00	\$	1,402.50	\$	182.33	\$	1,584.83			
Responses		\$	330.00	\$	-	\$		\$	-			
Issues Conference												
Preparation		\$	330.00	\$	-	\$	-	\$				
Attendance		\$	330.00	\$	_	\$	-	\$	-			
ADR - Settlement Conference									O			
Preparation	8.5	\$	330.00	\$	2,805.00	\$	364.65	\$	3,169.65			
Attendance		\$	330.00	\$	-	\$	-	\$	7.			
Proposal Preparation	225	\$	330.00	\$	742.50	\$	96.53	\$	839.03			
Argument												
Preparation	32	\$	330.00	\$	-	\$	-	\$				
Oral Hearing				V								
Preparation		\$	330.00	\$	:=0	\$		\$	-			
Attendance		\$	330.00	\$	-	\$		\$	-			
Other Conferences												
Preparation		\$	330.00	\$	(4)	\$	-	\$	989			
Attendance		\$	330.00	\$		\$	-	\$	-			
Case Management		\$	170.00	\$	-	\$	-	\$				
TOTAL SERVICE PROVIDER FEES				\$	4,950.00	\$	643.50	\$	5,593.50			